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24.14 - Figure E24.14 shows a system of four capacitors, where
the potential difference across ab is 50.0 V. (a) Find the equivalent
capacitance of this system between a and b. (b) How much charge
is stored by this combination of capacitors? (¢) How much charge is
stored in each of the 10.0-uF and the 9.0-uF capacitors?
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24.16 -+ For the system of capacitors shown in Fig. E24.16, find
the equivalent capacitance (a) between b and ¢, and (b) between a
and c.
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24.17 - In Fig. E24.17, each Figure E24.17
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Suppose a dielectric placed between two
plates of a capacitor increases the overall H‘
capacitance by a factor of two.

|
The amount of stored energy in the capacitor AV

b) halves
c) quadruples
d) is four times smaller



